DEPARTMENT OF CIVIL ENGINEERING
CE-222 STRUCTURAL MECHANICS |
Quiz-2 3/4/09

All problems equally weighted.
Problem 1

Draw the Shear Force and Bending Moment Diagrams and sketch the Qualitative
Deflected Shape for the following beam. Support settlement is 0.0512m for C and E and

0-051% m for A and G. Use E =200GPa, | = 250x10°mm®*. Member DH is rigid and
is welded perpendicular to beam AG as shown.

H
240 kN
RIGID m

20 kN MEMBER 20 kN
A B C D E G
[ ]
7 £

4m 4m 4m 4m 4m 4m

Problem 2

Find the forces in members FG, GB, BH, HC. Members BH and DH undergo a

temperature rise of 60°F. Use E =200GPa, A=400mm’, o = 1 Ex10° /°F.
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